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General Instructions :

(1)  The question paper comprises two Sections, A and B. You are to attempt both the sections.

(it) All questions are compulsory.

(iit) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be answered
in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be answered
in about 30 words each.

(vit) Question numbers 7 to 18 Section A are three-marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on practical
skills. Each question is a one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on practical skills.
These are to be answered in brief.
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HIT - A

SECTION - A
1. 39 Ufeesee &1 AW iR e fafae foae o) § IR wee g € 1
Write the name and structure of an aldehyde with four carbon atoms in its
molecule.
2. TMA HE S dF § VSR % d & fafEu | 1

List two functions of ovary of human female reproductive system.

3. Tgk, WM, Hi AR 49 1 fedt IR Juen § Hew &1 ot wR fAuif@ 1
IS |

In a food chain of frog, grass, insect and snake, assign trophic level to frog.

4. 9 % FeT Hid AR A F AUSIR HUWM: 3/2 AR 4/3 ¥ A w9 H ywwr - 2
I T 2% 108 m/s §, T A H YRS i =T IReh{ad SIS |

The refractive indices of glass and water with respect to air are 3/2 and 4/3
respectively. If speed of light in glass is 2 X 108 m/s, find the speed of light in
water.

5. 1 IR WFIGRI 1 Y IRY S 91 o W& § F8EH o 9hd % | 2

List four stakeholders which may be helpful in the conservation of forests.

6. S e & o ¥ e R YHiEaRong YHEAT Sl Bl § 1 39 S gl 2
&I - FHEST &l G AR

The construction of large dams leads to social and environmental problems.

List two problems of each category.
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g oTad ARelt § eme ol @ feafaai = fou ergER €1 Fel il @i

TET] WA hied § guie W €

Hrad He
2 Li (3) Be (4)
3 Na (11) Mg (12)
4 K (19) Ca (20)
5 Rb (37) Sr (38)

() Ca &1 SoRM fa=mm fafaw)

(i) Rb ¥ HASH SAFRIAI i G&AT &1 T{HM AR |
(iii) Sr H I 1 & FE?
(iv) STIHM @ET ff K o1 § Tea 140 |

(v) 1l | forae dEs 9o &9 § 2

(vi) Be, Ca, Mg 3R Rb &I ST THIY] o WSS o &d ¥ H HAd HifolC |

The position of eight elements in the Modern Periodic Table is given below
where atomic numbers of elements are given in the parenthesis.

Period No.
2 Li(3) Be (4)
3 Na (11) Mg (12)
4 K(19) Ca (20)
5 Rb (37) Sr (38)

(1) Write the electronic configuration of Ca.

(1) Predict the number of valence electrons in Rb.

(1i1) What is the number of shells in Sr ?

(iv) Predict whether K is a metal or a non - metal.

(v)  Which one of these elements has the largest atom in size ?

(vi) Arrange Be, Ca, Mg and Rb in the increasing order of the size of their
respective atoms.



8. USHTEE TR h WITgTH WHHTTE § qad= o g9 o foru o= fafue arfufsmaneti 3
& T THIH fafay qen g Johor § g9 TRl ol ddfaa ot hifs)
TIHTEH ITrA Ul Wifedq TdATTe & sifafied st |eft tfyerdent ok 3aurel &
M o fafEw)

Write three different chemical reactions showing the conversion of ethanoic

acid to sodium ethanoate. Write balanced chemical equation in each case.
Write the name of the reactants and the products other than ethanoic acid
and sodium ethanoate in each case.

9. WE T X YT Tad IRV & T 3 9 W 13 § o T 3

(2) X’ H GANSThal el i Y& a1 S9! GASThal HRa Hifg |

A

(b) X T Y (TH] G&A1=8) ¥ Afufehan gr1 s Afieh o1 g fafaw |
© X @ FARH (Cl) ¥ stfafsran g1 s Ak o1 99 iR g3 fafeu)

An element X belong to 3" period and group 13 of the Modern Periodic Table.
(a) Determine the valence electrons and the valency of X'.

(b) Molecular formula of the compound formed when X’ reacts with an
element Y’ (atomic number = 8).

(¢)  Write the name and formula of the compound formed when ‘X’ combines
with chlorine.

10. fREl 9@ X &1 THAM €A 35 AT THH G2l H G 18 B 1 X’ I THY] 3

&A1 3R 39 Soiag-fom=ame faf@n | X 1 9 de, sTad 9@ IR Harsiehd]

] I ot HIfST |

An element X’ has mass number 35 and number of neutrons 18. Write atomic
number and electronic configuration of X’. Also write group number, period
number and valency of X.
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(@ WfTH 9 R 30 Hatg # fafuean gferier €9 & < wRoi &1 9=

()

(b)

() 3@ H Afha 9 A’ &1 W faf@aw)

() ‘A 9 ‘B q% fRE THR TgEdl € 2

(if)) 9N ‘C’ =1 Hew fafEu |

(iv) ‘D’ R 3ifeha a1 1 fO=H & IvEa @ BT © 2

List two reasons for the appearance of variations among the progeny
formed by sexual reproduction.

(1) Name the part marked ‘A’ in the diagram.

(1) How does ‘A’ reaches part ‘B’ ?

(111) State the importance of the part ‘C’.

(iv) What happens to the part marked ‘D’ after fertilisation is over ?



12. SHF st gt fafge | wdisist 1 gafe o nfaed gem e § 98 ffg g 3

FERIAT AT € ?
Define reproduction. How does it help in providing stability to the population
of species ?

13. Sital o S % G H SUEM B 9 U8 ' qeeHad’ (YASA) Wi sAred 3
HIC I FH9 | gu HIWC Tk RS 919 95 Hifew Sl d gAegHad’ &t
gfshan ford YR T Bt § 2
Explain the term “Regeneration” as used in relation to reproduction of

organisms. Describe briefly how regeneration is carried out in multicellular
organisms like Hydra.

14. “'oora & 7 oaF-fomd’ R afiedn’ TWER S8 21 T ded & I 3
TS |

“Two areas of study namely ‘evolution’ and ‘classification’ are interlinked”.
Justify this statement.

15. Hed 7 yAM gR foRd YR e i @er wad 9 9 J9d e € 2 3

How do Mendel’s experiment show that traits are inherited independently ?

16. UMd % ThamhaTdl A Sa AU o S ®Ul i 94 0l 9 guifad fha &1 Aa 3
BN YHid o THIHG e A Sa-HUSd & i Ud oTod 3Ta9dl o Hogid
T 1 - R e g1 "Ha §) w@E giva fdee aRfefaEt 3 1
Fae IUh! T IR STl Pl AAHR T, dfcsh Yol & T siral @l of
AARN T | SAIHI Toh HeIS! 5l Tk el o 'Sl Fd’ I Alohd TS ©
Thdl & Bl H TFeR0 & Hid SRl Sc R W@l ¢, 991 38 gae o off Hhen
W Tl 98 TH-USE & TRV o (SR o1 s & faw off #SR & &
w2
(a) TH ST TATGRUT T TV HIA | AR 7
(b) TN TUTR] & fRue fqer & fau g0 iR i Fe-ufed &1 ved

fefem |
(¢ Y%k 3§ HIIR! N USRI S oAl i = IR S A9k foramer™ &
‘! Fre’ w1 GfRT g R
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18.
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The activities of man had adverse effects on all forms of living organisms in
the biosphere. Unlimited exploitation of nature by man disturbed the delicate
ecological balance between the living and non-living components of the
biosphere. The unfavourable conditions created by man himself threatened
the survival not only of himself but also of the entire living organisms on the
mother earth. One of your classmates is an active member of ‘Eco club’ of your
school which is creating environmental awareness amongst the school students,
spreading the same in the society and also working hard for preventing
environmental degradation of the surroundings.

(a) Why is it necessary to conserve our environment ?

(b) State the importance of green and blue dust-bins in the safe disposal of
the household waste.

(c) List two values exhibited by your classmate who is an active member of
Eco-club of your school.

fort Tiefta g4 gy Tt foma o1 o wfafems arfass, Seer ok — 2 ofasdq
F g1 Al gfafema & U0 ¥ T 30 cm W B, o fora et oo €2 <01 &t
HIhE g I it | Af foarat sl 41 &1 3TR 10 cm TAWIRG T e S,
@ <0 g = Giafers o <1 fqeaon i gel oA

The image formed by a spherical mirror is real, inverted and is of magnification

— 2. If the image is at a distance of 30 cm from the mirror, where is the object
placed ? Find the focal length of the mirror. List two characteristics of the
image formed if the object is moved 10 cm towards the mirror.

TE WA & fau fedt feamram &1 9v[ sifee f& 59 5oR = 1 gr
forarfed vard ekt Rl 311 Foigd fUsH g QAAiSId ohileh GH: void TeRml IT

fohal ST Whal B ¥od YT o TagH o [AAS ol T & fag fmo N
oft Eifau |

Describe an activity to show that the colours of white light splitted by a glass
prism can be recombined to get white light by another identical glass prism.

Also draw ray diagram to show the recombination of the spectrum of white
light.



19. 12 cm WIHE g0 % raae <401 gR1 fenelt forra e wften widfersl s & forq e °
T 7

() T e fam w g8 @1 g aiReR S = 2

(i) o1 aren gfafara gRs o fa@ @ S O IYE 9817 39 YEIO §
yfafers a1 <9 & fou foetor oM wifew |

(i) =9 fom o1 gfafom el am, afs 38 Td0 & 99 24 om W R W@ e
TMC? 3 W ol e & fore g9 feufq & fog ot freo s @ifeu

ST Tt o@l ¥ 4d, T iy 3R aohdl s & feafadl 1 «ff Ieisu |

It is desired to obtain an erect image of an object, using concave mirror of focal
length of 12 cm.

(1 What should be the range of distance of an object placed in front of the
mirror ?

(1) Will the image be smaller or larger than the object. Draw ray diagram
to show the formation of image in this case.

(111) Where will the image of this object be, if it is placed 24 cm in front of the
mirror ? Draw ray diagram for this situation also to justify your answer.

Show the positions of pole, principal focus and the centre of curvature in the
above ray diagrams.

20. famm =t gRumw fafgw) 98 fog YR 81 €2 ovfF st fe Stawg fvg 5
YR faemd & Tmefa # yHmr gy W © 2

Define evolution. How does it occur ? Describe how fossils provide us evidences
in support of evolution.

21, WU R & ? THUK! LG T U hifsrd | el AFT ART & Y0 § 39k O

Il T 3T hITIT |
What is placenta ? Describe its structure. State its functions in case of a
pregnant human female.
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23.
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1g hIsA AT P AHF Hig H,S0, % o T4 fhy 51 W *E o7 Afirw
‘Q AT € S FTohe I i SURYd W BRESM 9 Hhod Hih s GqW
AR R’ 91 €1 ‘R’ 1 Teh 317, S8 B W, e SESAFIEE o al 30 qe
A o T Y SAET Bl P, Q IR R I gAY IR WiHfea SAfafshansti &
TEEeh g fafey |

A carbon compound ‘P’ on heating with excess conc. H,SO, forms another
carbon compound ‘Q’ which on addition of hydrogen in the presence of nickel
catalyst forms a saturated carbon compound ‘R’. One molecule of ‘R’ on

combustion forms two molecules of carbon dioxide and three molecules of water.
Identify P, Q and R and write chemical equations for the reactions involved.

SIHUSAE YA F1 © 7 T URESA T IUAN Hhih Ad & T Yhids
TS 1 =R HIT

(2) R o1 feafeqmn

(b) fm PEiea iR faafea gar

3T IW o TRIHW o A0 TRG G |

What is atmospheric refraction ? Use this phenomenon to explain the following

natural events :

(a) Twinkling of stars

(b) Advanced sun-rise and delayed sun-set.
Draw diagrams to illustrate your answers.

() STIHR o9 & ®mRT g w1 gy fafaw)

(b) 30 cm RIHY U A1 HIT ATHR W 6 cm GBS & fwdt foma 1 glafars
TR s © 15 cm 0 X foreat ot 21 foen ® sAman 81 9-9F 1 3w
¥k foral ol o | g qen gfdforrs o1 drgst gierferd i

(© ST Rygfa | wfafar 971 <9 & foe feeor o Eifaw |

(a) Define focal length of a divergent lens.

(b) A divergent lens of focal length 30 cm forms the image of an object of size
6 cm on the same side as the object at a distance of 15 cm from its optical
centre. Use lens formula to determine the distance of the object from the
lens and the size of the image formed.

(¢) Draw a ray diagram to show the formation of image in the above situation.

10
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SECTION - B

25. TANENE § HeL o oSl o YU 1 J&01 Fd @ fordlt B 4 919 fu eqar. 1
gur o fafis 9 &t o1t e g ¥ P a9 |

S{ISIeRUl, 3T=d:hold, Joligy, Ty, SSUS gR, iqs |

TH 1 1 GET0 A ok geET ek weed 1 Fg feorult i, foh 57 | e
T o9 @ T ¥ S g H @ i w9 am wifew

(a) STSTERUl, AR, SS9 (b) 3T=<:hed, HAIEL, SSUE R

(© SS9, Jig, Sffsiero (d) AR, STSIe, TigT

A student while observing an embryo of a pea seed in the laboratory listed
various parts of the embryo as given below :

Testa, Tegmen, Radicle, Plumule, Micropyle, Cotyledon.

On examining the list the teacher remarked that only three parts are correct.
Select three correct parts from the above list :

(a) Testa, Radicle, Cotyledon (b) Tegmen, Radicle, Micropyle
(¢) Cotyledon, Plumule, Testa (d) Radicle, Cotyledon, Plumule

26. IR Y o ¢ W Flew ¥ T Ao ® TR H T F faw ww o !

fSFent HEATT AN §, 1 o9 379 9 fomd A ?
(a) TR AR T (b) 3T AR TRTH<T
(© &9 AR AR @ faudt siR e

If you are asked to select a group of two vegetables, out of the following, having
homologous structures which one would you select ?

(a) Carrot and radish (b) Potato and sweet potato
(¢) Potato and tomato (d) Lady finger and potato

31/3 11 P.T.O.



27. = fou U oM@ H wE 2ifhd w0 FH H T2

(2) i3 ze ®) <A FR D
© i, ze IR /D d v, /A 3R /D

In the following ray diagram the correctly marked angle are :

(a) ziand Ze (b) <A and £D
() 4, Zeand £D d) «r, ZA and £D

28. Y 3TY FAMTENeN H fafym aas 1o (i) & faw ®ig & ®d 9 oA el
Jehtel fRTor o1 9y sfed d §, 91 S Y0 § qeAedl 3T9ad vl
(~ ) 3R Tlq 01 (Le) o AT €1 3TYH FeIUil & TUR 39T Tel s "
FRCE

@) £i9S T sr W, g Le & T IR §

b) /iBRIT £r 8 WA Le F TN T T
© <i¥S % Le ¥, Wy Lr h AT TR T

d) ZiBRIE e W, WA £r F AW SRR T

31/3 12



In your laboratory you trace the path of light rays through a glass slab for
different values of angle of incidence (£ 1) and in each case measure the values
of the corresponding angle of refraction (£ r) and angle of emergence (£ e).
On the basis of your observations your correct conclusion is :

(a) z11s more than Zr, but nearly equal to Ze

(b) z11sless than Zr, but nearly equal to Ze

() Ziis more than Ze, but nearly equal to /r

(d) z11sless than Ze, but nearly equal to £r

29. U U sEda TUW i Aieehe HIRE U 914 w4 & foaw o9 gdor gy feet 1
e o o1 gfafors foret o8 W wiefad #d €1 9 Ry wfafers far
ﬁﬂ?l’ﬂﬁﬂéﬁ:

(a) TR uftafda iR B e 7
(b) el AR B Bl |
(© Hren R T g 2
) Hien iR srcafue e B R

To determine the approximate value of the focal length of a given concave

mirror, you focus the image of a distant object formed by the mirror on a
screen. The image obtained on the screen, as compared to the object is
always :

(a) Laterally inverted and diminished

(b) Inverted and diminished

(¢) Erect and diminished

(d) Erect and highly diminished

30. M ST AT AU TAFTAT i B o g o I Tt HiHerdl ol soren 1 1
gfafers SUe1 o9 g U8 W RiHiad W faen 1 o Afg s futetw HRRa
IRl T T TR A R AT I P THRR o o1 3H 7 W wewfad
S A GAE <, G IY I STA&T HT G © foh o
(a) | I oISl | Ua i AR TR |
(b) G HI A A TG H T AR |
© <9 ® g ' gd wt fewn Wi
) H AR UQ Al FI Bl TR IR |
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Suppose you have focused on a screen the image of candle flame placed at the
farthest end of the laboratory table using a convex lens. If your teacher
suggests you to focus the parallel rays of the sun, reaching your laboratory
table, on the same screen, what you are expected to do is to move the :

(a) lens slightly towards the screen
(b) lens slightly away from the screen
(c) lens slightly towards the sun

(d) lens and screen both towards the sun

TN § A 9 & Ay 36 #iE 7o 3iR &5 &R =1y | |gH 91 o g
T SR &R &1 A= e T dF 91 SN 99y Suge W 2

(a) TS & 4 IR Hicqaw TESFIES

(b) TREH &1 dd 3R Fifeaq TSRS

¢ TRUE &F 0 AR GIfeaq TRSIHFIEE

d) TG w1 9 AR Hfeqam TSRS

For preparing soap in the laboratory we require an oil and a base. Which of
the following combinations of an oil and a base would be best suited for the
preparation of soap ?

(a) Castor oil and calcium hydroxide
(b) Turpentine oil and sodium hydroxide
(¢) Castor oil and sodium hydroxide

(d) Mustard oil and calcium hydroxide

s S FHIRU ATHAT & AffhaT fHF0 *l Th 92 98 il foqeny o=
IR R ot forer o9 W S/l €1 9% I8 Y&T0 Kar § fF

(a) o foaemg o= § &8 giadd =& 21 3R o foem® 957 9he 21 5 & |
(b) e foreaq o3 § 18 ufeda 981 2ran IR et foems 99 e 71 S © )
(© et forens o # &g aftedq 721 & SR o ferewq o5 el & S 2
@) <Fl & faemg = & T § wE 9iedq T8 e
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34.
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A student puts a drop of reaction mixture of a saponification reaction first an

a blue litmus paper and then on a red litmus paper. He may observe that :

(@) There is no change in the blue litmus paper and the red litmus paper
turns white.

(b) There is no change in the red litmus paper and the blue litmus paper
turns red.

(¢) There is no change in the blue litmus paper and the red litmus paper
turns blue.

(d) No change in colour is observed in both the litmus papers.

3Tk foamed & TH-98 | WM & faU STavas #eRk 9d SUaed T8l T |
st foamer o Iuctsy deo & 19 fou gl 4 9 9% T 9qg g e
Ud TS hl STHd oI | EieM T, 98 38 HOR SId o < -

(a) WIfeay FARES, Hicaad FTARES

(b) TIREE FiNEE, Wfeam FiNEe

© dHifexd FaREe, THifem wiREs

@) FHfeaay FiREs, T FREs

In the neighbourhood of your school, hard water required for an experiment

is not available. Select from the following groups of salts available in your
school, a group each member of which, if dissolved in distilled water, will make
it hard :

(a) Sodium chloride, calcium chloride

(b) Potassium chloride, sodium chloride

(¢) Sodium chloride, magnesium chloride

(d) Calcium chloride, magnesium chloride

FTE B A= H B Il AATTR S ok fafye =0l 1 hHaR 90 dTell TR
RS T Y101 X @ 71 3W gfeRan o1 9 fafew) St o a9 Yarmn R g,
3 3fad FH H, ANE g M|

A student is observing a permanent slide showing sequentially the different
stages of asexual reproduction taking place in yeast. Name this process and
draw diagrams, of what he observes, in a proper sequence.

15 P.T.O.
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2.5 cm S9TE T B fE 10 cm WHE T & FFH 0@ o9 & THH F< 0’
Y 15 cm U W feo@ B1 o ot it &t feafa &R west 9@ & & fag
fortur s EifaT | 30 @ | YR s ‘07, T&I Wihd F a1 gfafas st

ST SAfed ifT |

An object of height 2.5 cm is placed at a distance of 15 cm from the optical
centre ‘O’ of a convex lens of focal length 10 cm. Draw a ray diagram to find
the position and size of the image formed. Mark optical centre ‘O’, principal
focus F and height of the image on the diagram.

%Iz B Tk I HIfeqq BEESH e Juf Tk § fau MU udHiges 3
¥ foama 1 3 @ gea Yeoi &1 gt sy, R 38 was § g et
stfufsran o fawg # ot Aie o ¥ o =nfew) M el wamfre stfafewan

o TEESR THR 9 fafgn |

A student adds a spoon full of powdered sodium hydrogen carbonate to a flask
containing ethanoic acid. List two main observations, he must note in his note
book, about the reaction that takes place. Also write chemical equation for
the reaction.
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